EX 4.

(0. o |—r=7r
|| —> [437)]
= di
5 | — Bl B
kg
7
_r_;i_\

L[ 5Pl — |i5eg]

093 st e forge from o to [2(gou car Clm‘%@ - VC’]‘@

B e 3 @ R FE R ARG
a7 BB AT 43 a5f %17 /%7

) Suppose. ia@apm%‘c L&sl( hek.y = d‘(b% ) 4 ,ﬂ(wo[ ")
b, Lib . k wol o', Mz%@ i

o g Rea o B il R e

437 1325 4544 6113 477 /?@/ %72
he a8l B = 7 W K?L st)moo/;z
]a(l?&“f, /)- {( %(W@%’ 6) L (Q’?"é%gé) ?MDO(IZ,
hoiget, 2) = 5 : 2 2 v
heieel, 3) = (et 1 - 5?— S

hei%d, 4) = ($+4+16 )mlm) ok
L 08T, 8) > (T T2) moll -



hl999 ) s (9F Po)mod (2 =3
%(I%Of, ) = ((H o) mﬂl [2 ?@

CLD' hck ) < (2\,()1) + J\)u(bv MOOZWL_
o= o
e e e e
457)1?@?}52} ap 45% - H7 %7}

hiolf2 Beaf 3 + 1o (élUmol T3 WDJ 5
( /Q_é") w\ooz e L_J.
h344,1) = 4+ 7- (g | 1) ml:ﬁ

%
ho6rt) = (447 = (9677 wd 1) mad 13
hei989.1) « (F+7 - (1787 ’”"JY” )“"0('5

= ]k}' 'W\OO{ ]52 &L
h(19ed )= %%"‘('f?@?/ﬂscbl“} med 13
P =

o) ffifiq& r?fef‘ N LQCKL(H"Q /\}O{:Q



= 4‘14_.

(") unoboler L‘g{g_
O(HZ)» wl/uzvn 02( )e,(qll,&‘ )/yaye LLZISZ Bk

)f{&xlf\ q/@]ug . OY\J/ not Ct”m«/ o[uj;l»‘c&{a_kzgg, O'LL/LYW;‘SQ, OQ\O

&) DVOLY LLCJLS.
Wi{—)l SQU-LQZ@)«CM&{ ‘H”?Q~ Woh"f Case
tie 3 owfoqQN)., othermise O

Balis
oy O(N°) w]nm Ofd kqﬁ \Zwe %lm Sewe

1’1&51’1 VGIUG, :









i 2 » w0 L L.

LR D g6 el L ) o) e
l1¢ R o o
e e 420 e e e

879 & 4 gy g B T
S et .
184 . ol el

[ 5o
R 02"
el s ‘ Z
JC}/WQ’TQ ;Z,L ])Q)‘m m '}ol‘@ |
(o)
() L Yo M(Z—Q
4 A Ry e 9 mversiang.
£ o5 | 28 & 3 nyereion®

Fumm’»&, Jrirwz_ [argeli\f_ O)IPMC),S o 71/)430.21 gorl;%% o{(?o[;

JM

2 Ug';"q(LA We con swaf-(é,l) At 7140}@% 3 wrled.

Y\/Lfc - locs Q«m\ P






CXM

@Aﬁfhﬁ //;%

/?_

Q'/f /

Jrifu mamf{ow e I/

Y

x5
. Ph

c/ s

GCL?Q o (‘owfil@rﬁ’\ N
(Al D
(BB F.G) CEN
AB) (BF) (F.D)
(H,1) (AD)(AE)
OB
(D, W) )
€




P d 7«
25 Ho rmmple

J,@i&a)@z_@ @fl@

Eo(l« of %/W/( Wélw ’rauQ 5 ok M\VT



